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1. BREEROR
(1) BEIUNZE
ZEEEEINS 276,878,000 287,654,000] A 10,776,000
S % 219,727,000 234,514,000 A 14,787,000|E4EUXA
S REE 34,290,000 31,833,000 2,457,000 [#HH1EZURA
TEBE 22,861,000 21,307,000 1,554,000|4 B~9H8%. 108~3A10%
EEEEZTEEINS 10,326,000 8,937,000 1,389,000
S % 4,796,000 4,646,000 150,000 |E2HEUA
S REE 4,766,000 3,629,000 1,137,000 | HEI BZIRA
REBE 764,000 662,000 102,000| 4 B~988%. 108~3810%
ST 12,774,000 13,187,000 A 413,000
S % 8,154,000 8,682,000 A 528,000 |BEEAEUIA
S REE 3,566,000 3,529,000 37,000 | ML EZURA
ZENEBE 1,054,000 976,000 78,000/ 4 B~988%. 108~3810%
FEE REEFEEZ I 2,776,000 2,683,000 93,000
FEE REEEEZ I 2,776,000 2,683,000 93,000 |EHEHZ TR
EES = 1,350,000 1,350,000 0
EJ= eS| 1,350,000 1,350,000 O|EREELE
S EE 56,829,000 50,829,000 6,000,000
SEESRfHE 16,829,000 10,829,000 6,000,000 |EE#Bh<E
ST S 40,000,000 40,000,000 0|tz EEMMHEIE
MEUNZS 2,000 2,000 0
SZEA) B 1,000 1,000 0
MEUNZS 1,000 1,000 0
RN ET 360,935,000 364,642,000 A 3,707,000
(2) BREEA
S 366,436,000 375,286,000 A 8,850,000
ERIN Y 219,727,000 234,514,000 A 14,787,000| X EXLERHE
TIMRES 34,290,000 31,833,000 2,457,000 |ZEEEMREZ
TinEEnE(FEEE) 4,796,000 4,646,000 150,000 |5 EELERHE
UMK BEE(GEEER) 4,766,000 3,629,000 1,137,000 |5 e EBMHIES
FRINGpas G =EES) 8,154,000 8,682,000 A 528,000 | MEEEAERHE
UMK ESE (B EE) 3,566,000 3,529,000 37,000 | B EEM R ES
BRFY 33,673,000 32,205,000 1,468,000 | B B EAA AR - S HF LS
REEES 18,450,000 18,365,000 85,000 | R ES
RERFE 8,421,000 7,908,000 513,000 [# & 1RERIZE
R AT & 2,103,000 2,040,000 63,000 |Bi & BHSH#E,. DBES
BHEELE 118,000 126,000 A 8,000 |8 B2k
BB 1,068,000 688,000 380,000 | &R EE 4 HIGMAHE
REBE 47,000 47,000 0| B EHE - KRB
B ERE 1,165,000 2,069,000 A 904,000 | ERfE, BEE. A > & —*% v FERERR
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B E A E 659,000 659,000 0Bl & (M, Mk, 18RS
THERE 2,728,000 2,930,000 A 202,000 |EHA %, EmEREZE
1EHEE 230,000 250,000 A\ 20,000 | EmIERE, Bk
ENRI s A2 2,524,000 2,196,000 328,000| N—F2 & V) HE, K NRREE
PIE i 620,000 620,000 0|=AECREE) S
EER 3,399,000 4,224,000 /\ 825,000 BT =15, OAtES: U — 2 KI%
R 2,908,000 3,235,000 A 327,000 L —{REE ERLEREE
EE ik 497,000 464,000 33,000 |4, g IR - BV RHE
LTINS 1,099,000 1,388,000 /\ 289,000 [URAFNHK, E=@AE. SHER
Zit#E 6,034,000 3,512,000 2,522,000 |5 2 7 LF R RPRIZ
B & 10,000 10,000 0|FBELTHR M
EESEIVE(EE S 100,000 100,000 0|HELER
EAEBRESE 4,202,000 4,249,000 A\ 47,000 | RBES SR
ILFER 732,000 818,000 A\ 86,000 | R BIIRA F Hkl
e 350,000 350,000 0|EREE
EIPEE 7,170,000 6,043,000 1,127,000
faklF L 1,214,000 424,000 790,000 |BLEEAIR K - 0. EFLE
RERTE 200,000 49,000 151,000 [# &R BK %
BRETE A 33,000 9,000 24,000|DBES
BHEELE 2,000 2,000 0|8 B ek
DEE 118,000 100,000 18,000 (EEL%
HEEREEE 1,691,000 1,685,000 6,000 =A% EMAAHE
RERE 263,000 263,000 0|&EFHES
BIEEME 12,000 12,000 0|BEEL%EA
SHFEMRE 885,000 673,000 212,000 a2
EDRI B A2 176,000 183,000 A 7,000 |HEBRENR
EER 1,716,000 1,725,000 A 9,000|55 545, OAMER U — 2 K1
Rk 205,000 270,000 /\ 65,000|% & 1Rk
GIEERN S 0 0 0|E AR
X BBE 416,000 416,000 0|2t - EAEES
it 171,000 171,000 0|z &R MELEm
XILFER 18,000 11,000 7,000 | & EbHEBIIROA F 50K
e 50,000 50,000 0| =& EE
RE &R 373,606,000 381,329,000 A\ 7,723,000
YRR E AR A 12,671,000 A 16,687,000 4,016,000
2. RENEROE
(1) BEAUNEE
BHilER £ 5T E A 0 0 0
R SNERET 0 0 0
(2) BEANER
2354 TR 0 1,000 A 1,000
BHilER 2 RENE 0 0 0
RENBERA 0 1,000 A 1,000
YRR SRR 0 A 1,000 1,000
Y A — AR IE R BA EE SRR A 12,671,000] A 16,688,000 4,017,000
—RERMEREES 64,020,319 80,708,319| A 16,688,000
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—RRIERMERRES 51,349,319 64,020,319 A 12,671,000
Il IERMERRES 51,349,319 64,020,319 A 12,671,000




